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IS I T & Ao [MPa) Ao =716 * Mo/ R?), R = (Smoger / M2 3.5
¥4 0 £ D [m] D =Myg/ (& * Smodel) 1.14
B £ 7 VIR () [°N] FEHIEHHIC 35 < 35.669
£ 7 VIR () [°E] R 35 < 139.453
£l 0[] FWREMIC IS < 315.0
Bk S [E] EHEMEICEES< 80.0
TR A [JE] IVE T LRSI & ARE 90
Wik 7 /L ESsR S Hg [km] HE A L 2km DR T 2
Wi E 7 LV E S TR Hg [km] IS AN ke 20
WrfE €7 LR S Lipger [km] [Lee] o () OFIEICHES 34
W7 g £ 7 /L W model [KM] (L v @ (A1) ODFINEICHED 18
WAHTEIR ST A= B EHIE Sr—A 1 ~4
FEHIL~L A [Nm/s?] A = 2.46x10"%(M ¢x10")*? 1.48E+19
& |HRE S, [km?] Sa=mr? r=(7n4) - {Mo/ (A - R)} + p° 140.2
va z: FENE T o, [MPa] 0a=Ac,=T7/16 - Mo/ (r* - R) 15.2
T < [P~y & D, [m] Da=70- D, 75 = 2.0 2.27
U | #igEE— A2 F Mga [Nm] [Moa=pu D, S, 9.93E+18
o |1 Sa [km?] Sa =S4+ (2/3) £721% S =S, 93.5
72 |FHIES) 0w [MP] Ca = O 15.2
1 ; TR0 B Dy [m] Du=(71/30%) Dy 7713 Dy = D, 2.52
5 A A [km’] 2kmA v oA X 12 X 8
o | e [km] Sw=Sa/3 E72E 7L 46.7
j: 2 | FEZNETT o [MPa] Cw=0, £720% 721 15.2
2 ; PR B Dy, [m] Dw=(r2/Syd) - Dy E7-13 721 1.78
5 A Hi AR [km’] 2kmA v 2P A R 8 X 6
o [HHE S, [km?’] Sp = Sodel - Sa 471.8
| FEIES oy [MPa] op=(Dp/Wy) * (/D) 1+ 33°+ 0. 2.6
fi SEHF 0 B Dy [m] Dy = Moy / (1 - Sb) 0.80
T HMUBE—RA 2 N Mg [Nm] Mg, =My - Mg, 1.17E+19
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RRETEZRE L -RBFRME (1) AR RmER)

BSJIMERbETER (FO15121) OER/NT A—4

RS 1 E 3t B & 5

BRI ST A S

BETTIE

i & < L [km] RHIFHIC X % 25
HUEHIAE M M =(log L +2.9)/0.6 7.2
HEE— A >k Mg [Nm] log Mo =1.17-M + 10.72 1.26E+19
F—AL b T =Fa—FM, M, = (log M, - 9.1) / 1.5 6.7
W8 7 L THFE S moger [kM?] Smodel = L model * W model 468
IS S T B Ao [MPa] Ao =7/16 * (Mo /R?), R = (Smoger / M2 3.0
9~ 0 & D [m] D =Mgo/ (1 * Smoder) 0.86
Wik 7 LR (HiF)  [°N] 53 iR SRy 35.102
e £ 7 VIR (M) [°E] FHIRHh 2 35 < 140.107
AR 0[] EHIFEHmIZZE-S< 265.7
Bk &[] EHEHMmIcE-S< 45.0
TR0 A [JE] ZAVE T E[RER & RGE -90
g £ 7 v ESRR S H [km] Hi B HA b 2km DR 2
Wi 7 LR S TR Hg [km) =S iR o R 15
Wrlg £ 7 VR S L imodel [kM] Ly e] @ () OFNEICHED 26
Wi £ 7 VIR W et [kM] (LI e D (1) OFNEITHED 18
WAREIR ST A—4 X E TR —A 1~5
FEHIL~L A [Nm/s?] A = 2.46x10"x(Mx10")* 1.23E+19
& | S, [km?] Sa=mr? r=(7n4) - {Mo /(A - R)} - B 89.1
va :f: EhIR S o, [MPa] Ga=Ac,=T7/16 - Mo/ (r? - R) 16.0
T < [Pt~y & D, [m] Da=70- D, 75 =20 1.73
U HigEE— A2 F Moa [Nm]  [Moa= - D, S, 4.80E+18
5 |TERE Sa [km?] Sa =S4+ (2/3) F721F S =S, 89.1 59.4
72 |FBIES 0w [MP] Cu = O 16.0 16.0
1 ; Y0 i Dy [m] Dau=(71/%%) - Dy $7-13 D = D, 1.73 1.91
FHE A R [km] 2kmA v 2P A X 10 X8 | 10 X 6
o | Se [km?] Saw=Sa/3 FE7-IE T2 29.7
7 A |FEIES 0w [MPa] =0 E2IE (7L 16.0
2 ; P £ Dy [m] Daw = (721 Sy%) - Dy 7213 (72 L] 1.35
S HiRE [km?] 2kmA v 2P A R 8 X 4
o[RS, [km?] Sh = Smogel - Sa 378.9 378.9
2 |FERIET oy [MPa] ob=(Dp/Wp) » (/DY) 1+ 3% oa 2.7 2.4
ffé SEHF~ 0 B Dy [m] Db =Moo/ (1 * Sb) 0.66 0.66
HIFEE— A2 N Mo, [NM] [Mgp= Mg - Moa 7.81E+18 | 7.81E+18

—160—




N265.7E, N265.TE, N265.7°E,

CASE-3 “

12.7km

TR 77
HrE R

T AN T4 EHIRRAIR R OEER

140 140.5" 138.5° 140° 1405

T T T T
140.5° 139.5" 1407 140.5°

FERNE T —A 1 FEES— A 2 FEMNE T — A 3

T T T
139° 139.5 140" 140.5°

fii vk

35

15 140 T s " rabs 180 1405
BT 4 5555#% 655 6# 7

BEAIE Y — % 4 B — 2 5 %
HRBES

BESHUL (BH) 305612 BE65a E (R 291169 BE6BL L (B 260070

—

EE6BLLE (TRR) 247578
c-_[‘ S &

35.5°

35,5

35’ 35"
139.5" 140° 140.5° 138.5° 140° 140.5° 139.5° 140° 140.5 139.5 1407 140.5°
BEoHUE (R 30434 BE ek (%R0 28748
T ‘ B

O
1395° 140° 1405” 138.5° 140° 1405 139.5° 140° 140 6° 139.5° 140" 1405
SRR — R 1 FEHIE S — R 2
L s s e —— — S e 1 g | [k
1 5§ 10 25 50 100 500 1000 5000 10000 25000 (%Eﬁﬁ%‘itjwm@ﬂg/\uﬁﬁ)
BEAO Avva1BRVDAER %Eﬂgﬁgknﬁj\zﬁ@ﬁ“

BS) 11 EE 3t B &
BRETEZSE L -hRBFRME () A thRETRmER)

—161—



RRETEZRE L -RBFRME (1) AR RmER)

ZHEREERH

IFRKRE—-LEEET

SHEBNER EHKE—LRMES (F01520) OBE/TA—4

EARRERE N T A—X

BOENIE

WriE & S L [km]
HIFE AR M

RHFHIICE S
M =(logL +2.9)/0.6

F1akmb LITEN LI E
6.7RELLUTENLL B

HIFEE— A > F Mo [Nm] Mo = (S moget X 101/4.24)* X 10”7 1.41E+19
F—AL v =F2—FM, |My=(logM,-9.1)/15 6.7
K768 & 7 /L THIFE S moder [kM’] S model = L model * Winogel 504
FIG 1% T & Ao [MPa] Ao =716 - Mo /R%, R = (Snote / M 3.0
SEET Y 5 D [m] D =Mgy/ (1 * Snodel) 0.90
rEE 7 VAR () [PN] B s 5 < 35.198
Wik E 7 VR () [PE] | B EEmic S < 139.788
£l 0[] FHREmIC 5 < 300.0
R o ] FHIFHHIZES< 45.0
TR A A [EE] INFETERBEERE 180
Wik £ L ESmiE S Hg [km] HE R L 2kmDOEN 3
Wi e VES FIR He [km] | WIZEMIC 55 < 15
WrlEE 7 /LR X L noder [kM] TR BENREATG I E D < 28
W) E 7 L W moder [kM] TREBNAEAGIZ EE S < 18
PR AR ST A—H BXE T E r—21
BEIAH L ~L A [Nm/s’] A = 2.46x10"x(M ¢x10)""® 1.29E+19
& |HifE S, [km?] Sa=mr? r=(7w4) - {Mo/ (A + R)} - B* 95.0
7 Z ERES o [MPa] 6a=Aca=T/16 + Mo/ (r* + R) 16.1
T |9~ 0 & D, [m] D.= 70D, yp =20 1.80
U HEBE—A> b Mo [NM]{Moa= g * Ds - Sa 5.34E+18
o | Sa [km?] Su =Sa- (2/3) F1iL Su =S, 95.0
7 A |FEHEN ou [MP] 0w = 04 16.1
1;’ FHFT A& Dy Ml |Da= (71!« Ds £7-1% Dy = D, 1.80
A5 TR [km’] 2kmA v a2t A X 12 X
o | Se [km] S =Sa/3 FluE MLy
72 |FERIES) 0w [MPE] ow=oa FI24E (721
2 ; JEHJF 0 B Dy [m] D =(y2/2yi°) * Dy £720% 721
S EiRS [km’] 2kmA v oA R
e |HH Sp [km?] Sb = Smodel - Sa 409.0
w |FERET) o [MPa] o, =(Dp/Wp) * (?/DD) 1 - 23+ 0a 2.8
fi FHF 0Dy [m] Do =Mos/ (i * Sp) 0.7
| HETE— AL N Mg, [Nm][M g, = Mg - Mg, 8.79E+18
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RRETEZRE L -RBFRME (1) AR RmER)

SH¥EHER IHRLUSES
SHEBIER THRLNES (F015222) OEHE/ISA—%

EARRERE N T A—X

BOENIE

WriE & S L [km]
HIFE AR M

EWEHmIC L 5

RHRHHIC & 5

F111kmb LTZ Lk
6.6F2E L LT

HIFEE— A > F Mo [Nm] Mo = (S mode X 10'1/4.24)* X 107 7.21E+18
F—AL v =F2—FM, |My=(logM,-9.1)/15 6.5
K768 & 7 /L THIFE S moder [kM’] S model = L model * Winogel 360
FIG 1% T & Ao [MPa] Ao =716 - Mo /R%, R = (Snote / M 2.6
SEET Y 5 D [m] D =Mgy/ (1 * Snodel) 0.60
rEE 7 VAR () [PN] B s 5 < 35.181
Wik E 7 VR () [PE] | B EEmic S < 139.758
£l 0[] FHREmIC 5 < 300.0
R o ] FHIFHHIZES< 45.0
TR A A [EE] INFETERBEERE 180
Wik £ L ESmiE S Hg [km] HE R L 2kmDOEN 3
Wi £ 7 VIR S TR Hg [km] FHIRHIC KS< 15
WrlEE 7 /LR X L noder [kM] TR BENREATG I E D < 20
W) E 7 L W moder [kM] TREBNAEAGIZ EE S < 18
PR AR ST A—H BXE T E r—21
BEIAH L ~L A [Nm/s’] A = 2.46x10"x(M ¢x10)""® 1.02E+19
& |HifE S, [km?] Sa=mr? r=(7w4) - {Mo/ (A + R)} - B* 55.4
7 Z ERES o [MPa] 6a=Aca=T/16 + Mo/ (r* + R) 16.7
T |9~ 0 & D, [m] D.= 70D, yp =20 1.2
U HEBE—A> b Mo [NM]{Moa= g * Ds - Sa 2.08E+18
o | Sa [km?] Su =Sa- (2/3) F1iL Su =S, 55.4
7 A |FRIES) o [MPa] ou = 0 16.7
1;’ FHFT A& Dy Ml |Da= (71!« Ds £7-1% Dy = D, 1.2
A5 TR [km’] 2kmA v a2t A X 10 X
o | Se [km] S =Sa/3 FluE MLy
72 |FERIES) 0w [MPE] ow=oa FI24E (721
2’; AR D Ml |Dw= 72/ 577« Da £721% T2 L)
S EiRS [km’] 2kmA v oA R
qe [ Sp [km’] Sb = Sodgel - Sa 304.6
w |FERET) o [MPa] o, =(Dp/Wp) * (?/DD) 1 - 23+ 0a 2.3
fi FHF 0Dy [m] Do =Mos/ (i * Sp) 0.5
[ MEE— AV b Mg, [Nm][Mg, = Mg - Mg, 5.13E+18
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RRETEZRE L -RBFRME (1) AR RmER)

RS2 IREE
FEEME (F015321) DER/NS A—4
BT ER ST A—H B E ST
i & < L [km] RHIRHEIC X % 21
HEE B M M =(log L +2.9)/0.6 7.0
HEEE— A2 b My [Nm] log Mg =1.17-M + 10.72 8.98E+18
F—AL b T =F2—F M, M, = (log Mg - 9.1) / 1.5 6.6
K& & 7 /LTI AE S moder [km”] S model = L modet * Winogel 396
IS I T & Ao [MPa] Ao =7/16 * (Mo /R?), R = (Smoger / M2 2.8
X9~ 0 5 D [m] D =Mgo/ (1 * Snodel) 0.73
£ 7 VIR () [°N] R 35 < 35.363
£ 7 VIR A () [°E] RHIRHi 35 < 139.323
Al 0[] EWREicE-3< 3515
R S [E] EHEMIICEES< 45.0
T Q] T30 e | 90
Wi 7L BIE S H [km] H SR L 2km DT ST 2
Wi E 7 LV ZES TR Hy [km] RHEEHIC S < 15
Wi £ 7 /L& & L poger [kM] v e o (1) OFEICHED 22
W7 g £ 7 L W moder [KM] Lo E] @ («£) OFIEITHED 18
WARTEIR T A= X E 1L =21
FEHIL~L A [Nm/s?] A = 2.46x10"x(M (x10")*? 1.10E+19
& |HRE S, [km?] Sa=mr? r=(7w4) - {Mo/ (A - R)} » B 66.9
va z ENE T o, [MPa] 0a=Aca=T7/16 - Mo/ (r* - R) 16.4
T [P~y & D, [m] Da=70- D, 7o =20 1.45
U | HIgEE— A F Mo, [Nm]  [Moa=p - D, S, 3.03E+18
5 |THIRE Sa [km] Sa=Sa+ (2/3) F721F S =S, 66.9
7 A IS 0w [MPE] o = 0, 16.4
1 ; TR0 B Dy [m] Du=(71/%%) - Dy $7-1% D = D, 1.45
5 i [km?] 2kmA v 2P A X 8 X 8
o |1 g [km] Sw=Sa/3 E7IE 7L
7 A |FERIES) 0w [MPa] 0= 00 ElolL 721
2 ; P B Dy, [m] D = (721 S7%) - Dy E£7-1% 72 L]
FHE i [km?] 2kmA v 2t A X
o [HHA S, [km?] Sh = Smogel - Sa 329.1
i |ESIEH oy [MPa] o= (Dp/Wp) + (/D) 13y o, 2.8
'fi SEHF 0 B Dy [m] Do = Moy / (1 - Sp) 0.58
T HEBE—A 2 N Mg [NM] Moy, = Mg - Mg, 5.95E+18
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RRETEZRE L -RBFRME (1) AR RmER)

ERETE T
IBiRESR (F015421) OER/NS A—4
BT ER ST A—H B E ST
i & < L [km] RHIRHEIC X % 15
HEE B M M =(log L +2.9)/0.6 6.8
HEEE— A2 b My [Nm] log Mg =1.17-M + 10.72 4.66E+18
F—AL b T =F2—F M, M, = (log Mg - 9.1) / 1.5 6.4
K& & 7 /LTI AE S moder [km”] S model = L modet * Winogel 288
IS I T & Ao [MPa] Ao =7/16 * (Mo /R?), R = (Smoger / M2 2.3
X9~ 0 5 D [m] D =Mgo/ (1 * Snodel) 0.52
£ 7 VIR () [°N] R 35 < 35.428
£ 7 VIR A () [°E] RHIRHi 35 < 139.039
Al 0[] EWREicE-3< 241.4
R 5[] FFmIc < 30.0
T Q] [T ) 90
Wi 7L BIE S H [km] H SR L 2km DT ST 2
Wi E 7 LV ZES TR Hy [km] RHEEHIC S < 10
Wi £ 7 /L& & L poger [kM] v e o (1) OFEICHED 18
W7 g £ 7 L W moder [KM] Lo E] @ («£) OFIEITHED 16
WARTEIR T A= X E 1L =21
FEHIL~L A [Nm/s?] A = 2.46x10"x(M (x10")*? 8.85E+18
& |HRE S, [km?] Sa=mr? r=(7w4) - {Mo/ (A - R)} » B 38.4
va z ENE T o, [MPa] 0a=Aca=T7/16 - Mo/ (r* - R) 17.4
T [P~y & D, [m] Da=70- D, 7o =20 1.04
U | HIgEE— A F Mo, [Nm]  [Moa=p - D, S, 1.24E+18
5 |THIRE Sa [km] Sa=Sa+ (2/3) F721F S =S, 38.4
7 A IS 0w [MPE] o = 0, 17.4
1 ; TR0 B Dy [m] Du=(71/%%) - Dy $7-1% D = D, 1.04
5 i [km?] 2kmA v 2P A X 6 X 6
o |1 g [km] Sw=Sa/3 E7IE 7L
7 A |FERIES) 0w [MPa] 0= 00 ElolL 721
2 ; P B Dy, [m] D = (721 S7%) - Dy E£7-1% 72 L]
FHE i [km?] 2kmA v 2t A X
4 | Se [km?] Sp = Smodel - Sa 249.6
i |ESIEH oy [MPa] o= (Dp/Wp) + (/D) 13y o, 2.8
'fi SEHF 0 B Dy [m] Do = Moy / (1 - Sp) 0.44
T [HIEE— A2 Mgy [Nm] Moy = Mg - Mos 3.42E+18
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RRETEZRE L -RBFRME (1) AR RmER)

FL— 2 HIErET (F015521) OER/NATA—4

L — B E

EARAY R ST A—4 B T
gz < L [km] FHIFMIC L 2 15
HIE R M M =(log L +2.9)/0.6 6.8
HIEE— A2 F Mg [Nm] log Mg =1.17*M + 10.72 4.66E+18
T—AL hw S =Fa—KM, M, = (log M, - 9.1) / 1.5 6.4
W7JE & 7 AR T S oger [km?] S model = TS modelseg 232
IS S T B Ao [MPa] Ao =7/16 - (Mo /R%, R = (Smode / B2 3.2
g0 & D [m] D =Mg/ (1 * Snodgel) 0.64
g £ 7 VIR AL () [°N] IR 35 < 35.356 | 35.357
WiE 7 VIR () [°E] B 55 < 139.086 | 139.183
AElA 0[] FEME il 55 < 218.4 279.8
R 5[] FHIRH I < 70.0 45.0
TR0 £ A [FE] CAERE 3 AL 3 e | 0 90
Wi €7 v BhRER S H [km] MR HAE & 2km DTN 7 2 2
Wi € 7 LR S TR Hg [km] FEHRHc 3 < 10 10
WiEE T L & L noge [KM] Ly el © (1) OFNEIHS 12 8
W& € 7 L W ingger [KM] Lo e © (1) OFIEICHES 10 14
78 E T VT S modet seg [KM'T S model seg = L model seq* Wnodel seq 120 112
T AL MHEE— AL b Moy [NM] |Sogel seg PO L.5FE ()i U T oL 2.45E+18 | 2.21E+18
TS AL BT R D, [m] Diseg = Moseg / (£ S model seq) 0.65 0.63
PRBEIR ST A—4 BXE 7 1A fr—2A1~3
HE B LU A [Nm/s?] A = 2.46x10"x(Mx10")"" 8.85E+18
. THfS S, [km?] S.=m? r=(7m4) - {Mo/ (A - R)} - p° 47.6
7 |FEBET) 0. [MP]] ca=Ac,=T7/16 - Mo/ (r* - R) 15.7
DA s A MEBS KM |Smogseg 0I5 LT 24.6 23.0
; SEHF Y B D, [M] Da=7p * Dyeg, 0 =20 1.31 1.26
HEE—A2 N M [Nm] [Mg=x-D,*S, 1.01E+18 | 9.07E+17
o | Sa [km?] Sat=Sa* (2/3) 7213 S =S, 24.6 23.0
7 A |EWIES ou [MP] O = O 15.7 15.7
1 ; Y40 Dy [m] Dau=(71/%y%) - Dy $7-13 D = D, 1.31 1.26
F i A [km?] 2kmA v 2 A X 6 X 4 6 X 4
o | Sa [km] Sw=Sa/3 E72iE 2L
72 |EIES) 0 [MPa] 0w =0y Ri2iE (2L
2;" TR H Dy, [m] Du = (721 5p) » Dy £721% (721
L R [km?] 2kmA v oA X
e[Sy [km?] Sb = Smodel - Sa 95.4 89.0
= |FERIRTT o, [MPa] o=Dp/Wp) * (@2/DD) 1+ 2y« oa 2.3 1.7
fjﬁz SEHF 20 Dy [m] Dy =Moy / (1 * Sb) 0.49 0.47
HEE— A2 F Mgy [Nm] Mg =Mg - Mg, 1.44E+18 | 1.30E+18
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RRETEZRE L -RBFRME (1) AR RmER)

B AR B

LREENES (F015621) OER/NZ A—4

EARRERIR N T A—X

BOEN A

i & L [km] EHRHmIC L % 32
HIEE R M M =(logL +2.9)/0.6 7.3
HIFEE— A2 N Mg [Nm] log My =1.17-M + 10.72 2.04E+19
F—RAL b= T=Fa—F M, M, = (log Mg - 9.1) / 1.5 6.8
W & 7 VT S model [KM?] S model = L model * Winogel 612
FIG 1% T & Ao [MPa] Ac =716 - Mo /R%, R = (Spoder / M 3.3
¥ D & D [m] D =Myo/ (1 * Smodel) 1.07
Wi £ 7 Vs () [°N] EMRHHIC 35 < 35.520
W £ 7 VIR () [°E] EWRHfiz 5 < 138.504
A 0[] EWRHc 5 < 52.5
B A 5[] FHRHiC &< 35.0
TR 4[] Bl =N 90
Wik e 7 /L ESmiE S Hg [km] BRI L 2kmDOIFEN 2
& £ 7 L S FIR Hg [km] FEHIEHIC S 15
WikE €7 /L& S Lmoger [km] Ly e © (1) OFIAICH 34
165 & € 7 L W noger [KM] (L) © (4) OFNECH D 18
T R ST A—4 R E T E r—A 1~4
BRI L~UL A [Nm/s?] A = 2.46x10"x(M ¢x10)""® 1.45E+19
2 |[HFE Sa [km?] Sa=m2 r=(7m4) - {Mo/ (A + R)} + B 129.4
va Z F2hsT) o [MPa] 6a=Acy=T7/116 - Mo/ (r* - R) 15.5
T [P~y & D, [m] Da=70+D, 7o =20 2.14
U | H@EE— A2 F Moo [Nm] M=+ D.+ S, 8.64E+18
o | Sa [km?] Sa =S4+ (2/3) £771% Sa = Sa 86.3
7 A TR o [MPe] Cu = O 15.5
1’; 0 & Dy [m] Du=(71/%y7) * Da 7213 Dy = D, 2.37
5w AR [km?] 2kmA v v 2 A R 10 X 8
| Se [km] Se =Sa/3 FlE MLy 43.1
72 |FERIES) o [MPE] G =0a E21E (721 15.5
2 ; TR0 Dy [m] Dw=(r2/2y7) - Ds £724F 721 ) 1.68
S dE R [km’] 2kmA v L2 A X 8 X 6
e |HFE S, [km?] Sp = Simdel - Sa 482.6
B |FEPIET o, [MP] o6 =(Dp/Wyp) * (T2 /Do) * 12y 04 2.6
fjﬁz T~ Dy [m] Dy = Moy / (1 * Sb) 0.78
T |HIEE— A R Mg, [Nm] [Mgp = Mg - Mg, 1.18E+19
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RRETEZRE L -RBFRME (1) AR RmER)

LtrEET

FEkE® (F015821) DEIR/NT A —4

EARRERIR N T A—X

BOEN A

i & L [km] EHRHmIC L % 32
HIEE R M M =(logL +2.9)/0.6 7.3
HEE— A2k Mg [Nm] log My =1.17-M +10.72 2.04E+19
F—RAL b= T=Fa—F M, M, = (log Mg - 9.1) / 1.5 6.8
K768 & 7 /L THIFE S moger [kM’] S model = L modet * Wodel 360
FIG 1% T & Ao [MPa] Ac =716 - Mo /R%, R = (Spoder / M 3.1
¥ D & D [m] D =Myo/ (1 * Smodel) 1.82
8 £ 7 VIR (M) [°N] F Rz %5 < 35.217
8 £ 7 VIR () [°E] FEHiic 5 < 139.034
AT 0[] EHIEHEIc LS < 193.6
B A 5[] FHRHiC &< 80.0
TR A [E] () | 0
Wik e 7 /L ESmiE S Hg [km] BRI L 2kmDOIFEN 2
& £ 7 L S FIR Hg [km] FEHIEHIC S 10
WikE €7 /L& S Lmoger [km] Ly e © (1) OFIAICH 36
165 & € 7 L W noger [KM] (L) © (4) OFNECH D 10
PRI AR ST A—X R E T E r—A 1~4
BRI L~UL A [Nm/s?] A = 2.46x10"x(M ¢x10)""® 1.03E+19
2 |[HFE Sa [km?] Sa=m2 r=(7m4) - {Mo/ (A + R)} + B 79.2
va Z FT) o) [MPa] 0a=A0c,=T7/16 * Mo/ (r* - R) 14.1
T [P~y & D, [m] Da=70+D, 7o =20 3.63
U | H@EE— A2 F Moo [Nm] M=+ D.+ S, 8.98E+18
o | Sa [km?] Sa =S4+ (2/3) £771% Sa = Sa 52.8
7 A TR o [MPe] Cu = O 14.1
1’; 0 & Dy [m] Du=(y1/3y7%) + Dy £721% Dy = D, 4.03
5w AR [km?] 2kmA v v 2 A R 8 X 6
| Se [km] Se =Sa/3 FlE MLy 26.4
72 |FERIES) o [MPE] G =0a E21E (721 14.1
2 ; TR0 Dy [m] Dw=(r2/2y7) - Ds £724F 721 ) 2.85
S dE R [km’] 2kmA v L2 A X 6 X 4
4 | So [km?] Sb = Smodel - Sa 280.8
2 |EES op [MPa] o6 =(Dp/Wyp) * (T2 /Do) * 12y 04 3.3
fz AT Dy [m] Db =My / (4 * S) 1.30
HIFRE— A > Moo [Nm] Moy = Mo - Moa 114E+19
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RRETEZRE L -RBFRME (1) AR RmER)

NE/N

R

REWET

AWET (F014721) OER/ANS A—4

EAHYRIE T A

BEHIE

Wi R & L [km] EWIRHmIC X 5 69
HIFEHE M M =(logL +2.9)/0.6 7.9
HET— A2+ My [Nm] log My =1.17-M + 10.72 9.14E+19
FT—AL IR T =F2—F My M, = (log Mo -9.1) /1.5 7.2
B8 € 7 VAR TR AE S oder [kM7] Smodel = =S model_seg 1296
HIS IR T & Ao [MPa] Ac =716 - (Mo /R>), R = (S mger / M) 4.8
R4~ & D [m] D =M/ (1 *Smodel) 2.26
g £ 7 VIR () [°N] FEHG I L5 < 36.366 36.366
Wi TV EA (i) [°E] RIS < 138.821 138.821
£ 6 [J£] IR 25 < 122.1 122.1 122.1
R 5[] FEHRHhc &S< 60.0 60.0 60.0
TR0 A A [E] [T e | 90 90 90
WrE £ L ESES Hg [km] HE LA L 2km DR T 5 5 5
Wit 7 VRS TR Hy [km] FHRMCR-3< 20 20 20
WIEET VR & Lmoger [KM] Ly E] @ () OFIEICHES 36 36 72
WikE £ 7 /L8 Wimger [kM] o] o (1) OFIMEICHS 18 18 18
W) € 7V TRE S model_seg [KM’] S model_seq = L model_seg * W model seg 648 648 1296
TU AL MMIBEE =AY b Mgy [NM] | S el seg PL.5FIT)ES U T oL 4.57E+19 | 4.57E+19 | 9.14E+19
B AL BT RO D g [m] Dseg = Moseg / (£ *S model seq) 2.26 2.26 2.26
PARAIERI ST A4 FRE SR Sr—A 1~8 9~12
BHJEB L~ L A [Nm/s?] A = 2.46x10"x(M ox107)" 2.39E+19
o [HifE S, [km?] S.=m? r=(7n4) - {Mo/ (A - R)} - p° 450.6
7 |EHET) 0. [MP]] Ga=Ac,=T7/16 - Mo/ (r* - R) 13.7
? A7 Ay MEfTS, kM’ [Smodel seg (ZhE U THMHL 225.3 225.3 450.6
; 420 B D, [m] Da= 70 * Deg, 70 = 2.0 4.52 4.52 4.52
HEEE—AL F Mg [Nm] |[Mg.=u+D,- S, 3.18E+19 | 3.18E+19 | 6.35E+19
o [ Sa [km?] Sa1=Sa° (2/3) £721L S =S, 150.2 150.2 300.4
7 |FRIEN) ou [MPA] o = O 13.7 13.7 13.7
1 ; T2 0 B Dy [m] Du=(71/5y%) - Da £7-1% D = D, 5.01 5.01 5.01
51 R [km?) 2kmA v oA X 12x12 | 12x12 | 18x%x 16
o |ERESe [km?] Sa2=Sa/3 FE72IE 721 75.1 75.1 150.2
? 2 | EEHIET) 04 [MPA] Ow=0a £720% 721 13.7 13.7 13.7
2 ; ST Dy [m] Dw = (72533 Do E7213 72 L] 3.54 3.54 3.54
ST RS [km?) 2kmA v aPh A X 10x8 |10x8 |12x12
e [T S [km?] Sk = Spodel - Sa 422.7 422.7 845.4
2 |EES o, [MPa] b =(Dp/Wp) *+ (2/Dy) 1+ 2y oa 2.0 2.0 2.8
f;; W0 B Dy [m] Do =My / (1 * Sp) 1.05 1.05 1.05
HEEE— A b Moy [Nm] Mgy = Mg - Mg, 1.39E+19 | 1.39E+19 | 2.78E+19
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RRETEZRE L -RBFRME (1) AR RmER)
RiE (BR) Wi

E (EB) BB (FO17101) OB/ A—42
BRI NTA—H [ R IR EA | 7136508 1A B EfE
Wrig &< L [km] HF21kmb LIFZ L E | 21
HIEEHIAL M M ={log (L) + 2.9} /0.6 7.0
HIFEE— AN M, [Nm] logMy=1.17-M +10.72 8.98E+18
F— AT =F2—F M, M, ={log (M) - 9.1}/ 1.5 6.6
Wrlg 7 VIR (M) [°N] R, 35.552
Wrlg 7 VIR (M) [°E] 133.223
Al 0[] T HEEAI v s A AU TE 5 1) 261.8
R 5[] F I3 -5< 70
TR0 4[] et ww = 180
MR A RIS H g [km] i A L 2kmODTE N S 2
HERR A T IRIES H ¢ [km] EHZEIIc 3L 15
Wil €7 /L LIRIRS Dy [km] Diop = Hs 2
KT £ 7 /LR E L noger [km] (LB 1D (1) OFINECHED 26
Wi € 7 /L W yoger [k] L0 (o) OFIEICHED 14
W€ 7 /LT S mocet [KMP] S model = L modet W moce 364
FRIOSER)IG J10% T & Ao [MPa] A =7/16*(Mo/R3), R = (S pogerlm) "2 3.2
SRV £ D [m] D =Mg/ (&*S mogel) 0.8
PR R N T A— X HEHVE fr—21-2
R0 A [Nm/s?] A =2.46X 101X (M 4 X 107)3 1.10E+19
A\ HifE S, [km?] S.=nr?r =(Tnld)-{M,/ (A-R)}-p?| 728
> 7|85 o, [MPa] G.=Ac,=(S 1S,) Ao 15.8
A i 40 & D, [m] D,=7p°D, 75 =20 1.6
U | HIFEEE— A Mg, [Nm] Mo= D, S, 3.50E+18
7 |THiFE S o [km?] Sa =S, 72.8
A ENIET) o [MPa] Cal= 04 15.8
1 ; TH)F R0 Dy [m] D, =D, 16
= | HIFEE— AN Moy [NM] Mog = *Day*Sa 3.59.E+18
ANF RS L gXWy [kmxkm]  [2kmAvs 294 X 10 x 8
7 | S 5 [km?] - -
A EHES) o, [MPa] - -
2 ) [0 R Dy [m] - -
= |HIEEE— AR M g [NM] - -
A BRI A L pxW o, [kmxkm] [ — —
e [HEFH Sy [km?] Sb = Smodel - Sa 291.2
= | FERET) oy, [MPa] o = (DyWy)* (r¥2 /D) r -2y o, 3.2
W |SEB9 <0 B Dy [m] Dy=Mg,/ (12°Sy) 0.6
B e — M o [NM] Mg, =Mg- Mg, 5.39E+18
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RRETEZRE L -RBFRME (1) AR RmER)

EL—SREE
BEEH—SHMEE (F017301) OER/NS A —4
PARRYRIR ST A4 IR HREAMG ) 7233 1k A% e
Wi & L [km] [%y26km) 26
HEEHIAR M M ={log (L) + 2.9} /0.6 7.2
HIFEE— A Mo [Nm] logMg=1.17-M +10.72 1.36E+19
T—A M =F2—K M,, M, ={log (M) - 9.1}/ 1.5 6.7
Wi e VR (HiH) [°N] e A5 B 35.517
Wrlg 7 LR (M) [°E] 134.318
&1 0[] B W RTAMG DS A5 A A 7207 1H) 251.6
R &[] FWRH o 35< 90
0 4[] TRET 4L brE | 180
HIFRE A L BREES H g [km] HiL 7R oA L 2km DR N 2
HIFEFE A T RIS Hy [km] EHIEmIc 3L 15
T J -7 /L LTS D [k] Dyop = Hs 2
& T 7 VRS Lnoger [km] (L v ) (1) DFNEICHD 30
[iﬁ%%ﬁfﬂ/ﬂ]ﬁ Wmodel [km] H/‘\/EOJ ) (/r) OD%JILEJ:@\&5 14
T I € 7 /LT S pmocer [KM] S model = L modet W mogel 420
FREOSERIIS J10% T & Ao [MPa] Ao =T7/16+(M o/ R3), R = (S mogal ) 3.9
WF) IRV & D [m] D =Myg/ (*S model) 1.0
AR R N T A—H B T EPR IS br—21-2| 4 —23~6
JEE L ~L A [NMUs’] A =2.46X10" X (M4x10")"° 1.27E+19
RS S, [km?] Sa=nr? r =(7n/4)-{M,/ (A-R)} B’ 109.9
> 7; 5 S o, [MPa] o.=Ac,=(S/1S,) Ao 14.7
1 | F¥F =0 & D, [m] D,=7p5°D, 7p=20 2.1
U [HIFEE— A2 Mg, [NM] Moa= 2D, S, 7.13E+18
7 |THIFE S o [km’] Sa =S, FlF S, (2/3) 109.9 733
A EBIET] oy [MPa] Ou =0, 14.7 14.7
1 ; VT SO E Dy [m] Da =D, F72i% (#1/27) D, 21 2.3
| HIEET— Ak Mgy [NM] Mou =Dy Sa 7.13.E+18 | 5.27E+18
A FHE RS Ly xWy [kmxkm]  |2kmAyS 23X 14 x8 | 10 x8
7| S 5 [km?] S =S, (1/3) — 36.6
A\ EBIET] o5 [MPa] Cw =0, — 14.7
Z;B?i@ﬁ‘f\“@% D, [M] D.,=(r,/2r D, — 1.6
Z [HIERE— A Mg [NM] Mop =Dy Sap — 1.86E+18
A |FHE A RS L o¥W o, [kmxkm]  |[2kmAy s 244X — 6 X 6
’” IS Sy [km?] St = Smodel - Sa 310.1 310.1
= ST oy [MPa] o= (DyWy) (2 /DY) 1=y o, 2.7 2.6
5P~V & D, [m] Dy, =Mg/ (°Sy) 0.7 0.7
e HIFEE— A Mg, [NM] Mo, =Mg- Mg, 6.49E+18 | 6.49E+18
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